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Tt FET FET FET FET Fi#x Fi#r Fi#r FET

“TT-ENA-AEH 27,55 52,045 425 2,870 807 5180 397,822 16,515 503,189

HERENEZER - - - (2,870) — - — - (2,870)

RR A T - - - - - - 79,242 — 79,242

BERZZZ-FHEKE - - - - — — (6,881) 6,881 -

BEERZZZ-FERBKE - - - - — —  (12386) 12,38 -

BIRARE - - - - — - —  (23396)  (23,39%)
ZEE-FE=-FA=1+—H

£ 27,525 52,045 425 — 807 5180 457,797 12,386 556,165

RR AL T - - - - - - 65,485 - 65,485

BERZZZ=FHHKE - - - - - - (5,505) 5,505 -

BER-EZ=FRAKRE - - - - — — (9,634) 9,634 -

BIRARE - - - - - - —  (17,891)  (17,891)
—ZTT=5=f=1-H

£ 27,525 52,045 425 — 807 5180 508,143 9,634 603,759
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